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€o how do we use the above results to represent these numbders in the computer? Well, fumsily we
reserve 4 bytes of storage for 2ach real 1n the following formats

sign normailserd manti1ssa Ee:zpor;en;—] [ Gata
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signs the sign of the mantissai | = negative, C = cositive,
ncrmalised mantissas the mansissa normalises to the rora 1.axxIxx
with che top b:: (Bit 22) always  exiest when
regresenting zere (£1=0, TE=0). '
exzanent: the expcnens in binary 2's complament sorm. i
Thus: :
t
2 = 0 1000000 OCT 30000 00000000 0CO00Q001 (£40,£30,£00.502)
 : = 0 1000000 00000000 O0000002C CCOO00COCD (£40,.£00,223,£00)
-12.5= 1 1100100 00000000 00000000 ©0C03CO11 (£E€.£UO.££C.£E§)
0.1= 0 1100110 ©0110011f 01100110 11111100 (£66,£64,5024£F0) ‘
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